VIEWB - B

REF. SOURCE

TENSATOR (NORTH AMERICA) INC.
3805 BUSINESS PARK DRIVE
LOUISVILLE, KY 40213

TEL: 1-502-962-6464

FAX: 1-502-962-6410

MDC VACUUM PRODUCTS CORP.
23842 CABOT BLVD.

HAYWARD, CA 94545-1651

TEL: 1-800-443-8817

FAX: 1-510-887-0626

492 (12.50]
TRAVEL UP
i

BEAM DIRECTION

1

492 [12.50]
TRAVEL DOWN

SECTION A - A

sectionD - D

]

1

4X 81[2057) THRU

BEAM DIRECTION

DRAWING BROUGHT UP TO DATE

3

M.IMLJB.

OPENING
* SEE PART #B4-220001 FOR DIMENSIONS
VIEW "C"
SCALE 10X
1
225[5.72)
CLEARANCE TO
BEAM CENTER @
FULL TRVL. UP
16 | #190070 1/4 - 28 PLATE NUT ssT
15 1/4 - 28 X 1 1/4" LG, SOC. HD. SCREW ssT
14 | #450002 VIEW PORT ZERO PROFILE GLASS VACUUM FLANGE SSTIGLASS
13 | #191004 COPPER GASKET OFHC COPPER
12 | #191007 COPPER GASKET OFHC COPPER
1 3441.D. X 065 THK. PLAIN WASHER ssT
10 5/16 - 24 UNF 2B NUT SsT
9 32610, X 078 THK. LOCK WASHER ssT
8 5/16 - 24 X 13/4" LG. SOC. HD. SCREW ssT
7 #8 - 32 X 34" LG. SOC. HD. SCREW ssT
6 | #SRI5 CONST. FORCE EXTENSION SPRING (6.93) ssT
5 | P4105091502-900002-012-90 CONST. FORCE SPRING ROLLER DELRIN
4 | P4105091502-900001-002-90 CONST. FORCE SIDE PLATE ssT
3 | B4-210000-00 B4-20 CHAMBER WELDMENT ASSEMBLY SsT
2 | BA4-230000-00 B4-20 ELECT. FEEDTHROUGH FLG.& MIRROR ASSY |

84-220000-001 84-20 DIAMOND SENSOR ACTUATOR ASSEMBLY

B4200000-01

ampal MUSCIA 3/13/97D. Shu 3/25/97
B4-20 SOFT X-RAY
BEAM POSITION MONITOR
wi

J_BARRAZA | 311997 TM. Kuzay 3127197
SHUIMUSCIA _| 3/13/97
DIAMOND SENSOR

D.SHU /25197 ASSEMBLY

HAL

F
SEE PARTS LIST 11 |E | B4-200000-01



